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Barriers and Incentives to Labour Force Participation 

Retirement and Retirement Intentions 

Module 4.1 Unpaid Activities (UAC) 

From population Question/Field To question 

Age = > 18 and ((usual hours 
worked < 35 and LFS status = 
employed), or LFS status = 
unemployed or LFS status = 
not in labour force) 

UAC_Q01 
The following questions are about activities you may have done in the last four weeks.  

Press [1] to continue. 

 
 

 SG UAC_Q01A 

UAC_Q01 = ALL SG UAC_Q01 
1. If Age < 65 or (Age >= 65 and (House type der = 3, 4, 5, 6, 7, 8, 13, 14, 15, 16, 17, 18 or 99) 
 
2. Otherwise 

 
1.  UAC_Q01A 

2.  UAC_Q01B 

SG UAC_Q01 = 1 UAC_Q01A 
During the last four weeks, did you spend any time on the following activities in an unpaid capacity? 
 
Caring for your own children? 
Excludes performing domestic tasks (such as washing and ironing) for adult children  
 
1. Yes 
5. No 

 
 
 
 
 

1.  UAC_Q01B 
5.  UAC_Q01B 

SG UAC_Q01 = 2 
UAC_Q01A = ALL 

UAC_Q01B 
During the last four weeks, did you spend any time 
 
Caring for other people's children, including grandchildren? 
 
1. Yes 
5. No 

 
 
 
 
 
1.  UAC_Q01C 
5.  UAC_Q01C 

UAC_Q01B = ALL UAC_Q01C 
During the last four weeks, did you spend any time 
 
Caring for someone with a long-term illness or disability? 
 
1. Yes 
5. No 

 
 
 
 
 
1.  UAC_Q01D 
5.  UAC_Q01D 



 

2 

UAC_Q01C = ALL UAC_Q01D 
During the last four weeks, did you spend any time 
 
Caring for an elderly person? 
 
1. Yes 
5. No 

 
 
 
 
 
1.  UAC_Q01E 
5.  UAC_Q01E 

UAC_Q01D = ALL UAC_Q01E 
During the last four weeks, did you spend any time 
 
Doing any other unpaid voluntary work? 
 
1. Yes 
5. No 

 
 
 
 
 
1.  SG UAC_Q02 
5.  SG UAC_Q02 

UAC_Q01E = ALL SG UAC_Q02 
1. If usual hours worked = 0 to 34 
 
2. If LFS status = not in labour force or (LFS status = unemployed and LFS_Q098 in last 20 years) 
 
3. If LFS status = unemployed and LFS_095 <> 1 and LFS_Q098B = 1 and LFS_Q098 more than 20 
years ago) 
 
4. If LFS status = unemployed and Age >= 45 and LFS_Q095 = 1 and LFS_Q098 more than 20 years 
ago 
 
5. LFS status = unemployed and LFS_Q095 = 1 and LFS_Q098B = 1 or Age = 18 to 44 and LFS_Q098 
more than 20 years ago) 

 
1.  CJB Module 
 
2.  PRJ Module 
 
3.  TFW Module 
 
 
4.  SUP Module 
 
 
5.  Next applicable 
module 
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Module 5: Barriers and Incentives to Labour Force Participation 

Module 5.1: Current Job (CJB) 

From population Question/Field To question 

(Age => 18 and usual hours 
worked <35 and LFS status = 
employed) or (Age => 45 and 
LFS status = employed) 

CJBIntro 
 
[The next few questions are about the job or business in which you usually work the most hours, that is, 
your main job/The next few questions are about the work you do now in your job or business] 
 

Press [1] to continue 

 
 
 
 
 

 SG CJB_Q05A 

CJBIntro SG CJB_Q05A 
1. If HasBusOrEmp = Employed or LFS_Q062=Yes (employed by an employer or own incorporated 
business) 
 
2. If HasBusOrEmp = Business or LFS_Q062=No (employed in own unincorporated business) 

 
1.  SG CJB_Q05B 
 
 
2.  SG CJB_Q12 

SGCJB_Q05A = 1 SG CJB_Q05B 
1. Non-quarter month (formtype=short) 
 
2. Quarter month (otherwise) 

 
1.  CJB_Q06 
 
2.  SG CJB_Q08 

SG CJB_Q05B = 1 CJB_Q06 
Does your [business/employer] provide you with paid sick leave 
 
1. Yes 
5. No 

 
 
 
1.  CJB_Q07 
5.  CJB_Q07 

CJB_Q06 = ALL CJB_Q07 
Does your [business/employer] provide you with paid holiday leave? 
 
1. Yes 
5. No 

 
 
 
1.  SG CJB_Q08 
5.  SG CJB_Q08 

CJB_Q07 = ALL 
SG CJB_Q05B = 2 

SG CJB_Q08 
1. If CJB_Q06 = 1 and CJB_Q07 = 1 
 
2. If LFS_Q078 = 1 and LFS_Q079 = 1 
 
3. Otherwise 

 
1.  SG CJB_Q12 
 
2.  SG CJB_Q12 
 
3.  CJB_Q09 
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SG CJB_Q08 = 2 CJB_Q09 
Are you employed as a casual? 
 
1.Yes 
5. No 

 
 
 
1.  SG CJB_Q12 
5.  SG CJB_Q12 

SG CJB_Q05A = All SG CJB_Q12 
1. If FormType = Short 
 
2. Otherwise 

 
1.  CJB_Q14 
 
2.  CJB_016A 

SG CJB_Q12 = 1 CJB_Q14 
Have you worked [in your business/for your employer] for 12 months or more? 
 
1. Yes/More 
5. No/Less 

 
 
 
1.  CJB_Q16 
5.  CJB_Q15 

CJB_Q14 = 5 CJB_Q15 
How many months have you worked [in your business/for your employer]? 
 
Interviewer: If worked less than 1 month, enter 1. 

<1...11> 

 
 
 
 

 CJB_016A 

CJB_Q14 = 1 CJB_Q16 
How many years have you worked [in your business/for your employer]? 
 

<1...70> 

 
 
 

 EDIT  CJB_016A 

CJB_Q15 = ALL 
CJB_Q16 = ALL 

CJB_Q16A 
How satisfied are you with the number of hours that you work? Are you very satisfied, satisfied, neither 
satisfied or dissatisfied, dissatisfied or very dissatisfied? 
 
1. Very satisfied 
2. Satisfied 
3. Neither satisfied or dissatisfied  
4. Dissatisfied 
5. Very dissatisfied 

 
 
 
 
1.  CJB_Q16B 
2.  CJB_Q16B 
3.  CJB_Q16B 
4.  CJB_Q16B 
5.  CJB_Q16B 



 

5 

CJB_Q16A = ALL CJB_Q16B 
How satisfied are you with your current work arrangements? Are you very satisfied, satisfied, neither 
satisfied or dissatisfied, dissatisfied or very dissatisfied? 
 
1. Very satisfied 
2. Satisfied 
3. Neither satisfied or dissatisfied  
4. Dissatisfied 
5. Very dissatisfied  

 
 
 
 
1.  SG CJB_Q17 
2.  SG CJB_Q17 
3.  SG CJB_Q17 
4.  SG CJB_Q17 
5.  SG CJB_Q17 

CJB_Q16B = ALL SG CJB_Q17 
1. If (Age >= 18 and usual hours worked <35) or (Age >= 45 and usual hours worked in main job <35) 
 
2. If Age >= 45 and usual hours worked >= 35 

 
1.  WMH Module 
 
2.  SUP Module 
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Module 5.2: Previous Job 

Module 5.2.1: Previous Job Type (PRJ) 
From population Question/Field To question 

Age >= 18 and (LFS status = 
not in labour force or (LFS 
status = unemployed and 
LFS_Q098 in last 20 years)) 

SG PRJ_Q01 
1. If LFStatus = not in labour force 
 
2. If LFStatus = unemployed and LFS_Q098 in last 20 years  

 
1.  PRJ_Q02 
 
2.  PRJ_Q06 

SG PRJ_Q01 = 1 PRJ_Q02 
When did you last work for two weeks or more? 
 
Interviewer: If less than 2 years ago, enter the FULL DATE 
If 2 years to less than 5 years ago, enter the MONTH and YEAR only (Enter 2 spaces for the day) 
If 5 years or more ago, enter the YEAR only (Enter 4 spaces for the day and month) 
 
If has never worked for two weeks or more, enter 99 

 
 
 
 
 
 

 SG PRJ_Q05 

PRJ_Q02 = ALL SG PRJ_Q05 
1. If PRJ_Q02 in last 20 years 
 
2. Otherwise 

 
1.  PRJ_Q06 
 
2.  SG PRJ_Q05A 

SG PRJ_Q05 = 2 SG PRJ_Q05A 
1. LFS status = not in labour force and (LFS_Q088A = empty and LFS_Q088B= empty and 
LFS_Q088C = empty and LFS_Q088D = empty and LFS_Q088E = empty and LFS_Q088F = empty 
and LFS_Q088G = empty and LFS_Q088H = empty) or LFS_Q088H = 3 to 6 
 
2. LFS status = not in labour force and (LFS_Q088A = yes or LFS_Q088B = yes or LFS_Q088C = yes 
or LFS_Q088D = yes or LFS_Q088E = yes or LFS_Q088F = yes or LFS_Q088G = yes or LFS_Q088H 
= 1 to 2) and LFS_Q089 = No 

 
1.  WTW Module 
 
 
 
2.  WCS Module 

SG PRJ_Q01 = 2 
SG PRJ_Q05 = 1 

PRJ_Q06 
In your last job, did you work for an employer or in your own business? 
 
1. Employer  
2. Own business  
3. Other/Uncertain 

 
 
 
1.  PRJ_Q07 
2.  PRJ_Q10 
3.  PRJ_Q08 
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PRJ_Q06 = 1 PRJ_Q07 
Were you paid a wage or salary, or some other form of payment? 
 
1. Wage/Salary 
2. Other/Uncertain  

 
 
 
1.  PJD Module 
2.  PRJ_Q08 

PRJ_Q06 = 3 
PRJ_Q07 = 2 

PRJ_Q08 
What were your working or payment arrangements? 
 
1. Unpaid voluntary work 
2. Unpaid trainee/work placement 
3. Contractor/Subcontractor 
4. Own business/Partnership 
5. Commission only 
6. Commission with retainer 
7. In a family business without pay 
8. Payment in kind 
9. Paid by the piece/item produced 
10. Wage/salary earner  
11. Other 

 
 
 
1.  SG PRJ_Q09 
2.  SG PRJ_Q09 
3.  PRJ_Q10 
4.  PRJ_Q10 
5.  SG PRJ_Q09 
6.  SG PRJ_Q09 
7.  SG PRJ_Q09 
8.  SG PRJ_Q09 
9.  SG PRJ_Q09 
10.  SG PRJ_Q09 
11.  SG PRJ_Q09 

PRJ_Q08 = 1, 5 to 10 SG PRJ_Q09 
1. If PRJ_Q08 = 5 to 10 
 
2. If PRJ_Q08 = 1 and (LFS status = not in labour force or (LFS status = unemployed and LFS_Q098 
in last 20 years)) 
 
3. If PRJ_Q08 = 1 and (LFS_Q088A = yes or LFS_Q088B = yes or LFS_Q088C = yes or LFS_Q088D 
= yes or LFS_Q088E = yes or LFS_Q088F = yes or LFS_Q088G = yes or LFS_Q088H = yes or 
LFS_Q088 > 0) and LFS_Q095 <> 1 
 
4. If PRJ_Q08 = 1 and Age >= 45 AND LFS_Q095 = 1 
 
5. If PRJ_Q08 = 1 and Age >= 18 and <45 and LFS_Q095 = 1 

 
1.  PJD Module 
 
2.  WTW Module 
 
 
3.  TFW Module 
 
 
 
4.  SUP Module 
 
5.  Next applicable 
module 
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Module 5.2.2: Previous Job Details (PJD) 
From population Question/Field To question 

Age >= 18 and ((LFS status = 
noti in labour force and 
PRJ_Q02 in last 20 years) or 
(LFS status = unemployed and 
LFS_Q098 in last 20 years)) 
and PRJ_Q08 <> 1 and 2 

SG PJD_Q01 
1. If PRJ_Q10 = 5 
 
2. Otherwise 

 
1.  SG PJD_Q06 
 
2.  PJD_Q02 

PJD_Q01 = 2 PJD_Q02 
Did this [employer/business] provide you with paid sick leave? 
 
1. Yes 
5. No 

 
 
 
1.  PJD_Q03 
5.  PJD_Q03 

PJD_Q02 = ALL PJD_Q03 
Did this [employer/business] provide you with paid holiday leave? 
 
1. Yes 
5. No 

 
 
 
1.  SG PJD_Q04 
5.  SG PJD_Q04 

PJD_Q03 = ALL SG PJD_Q04 
1.If PJD_Q02 = 1 and PJD_Q03 = 1 
 
2. Otherwise 

 
1.  SG PJD_Q06 
 
2.  PJD_Q05 

SG PJD_Q04 = 2 PJD_Q05 
Were you employed as a casual? 
 
1. Yes 
5. No 

 
 
 
1.  SG PJD_Q06 
5.  SG PJD_Q06 

SG PJD_Q01 = 1 
SG PJD_Q04 = 1 
PJD_Q05 = ALL 

SG PJD_Q06 
1. If FormType = Short or LFS status = not in labour force or (LFS status = unemployed and LFS_Q86 
= more than 2 years ago) 
 
2. Otherwise 

 
1.  PJD_Q07 
 
 
2.  PJD_Q11 

SG PJD_Q06 = 1 PJD_Q07 
What was your occupation in that [job/business]? 
 
<Open text field> 

 
 

 PJD_Q08 
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PJD_Q07 = ALL PJD_Q08 
What were your main tasks and duties? 
 
<Open text field> 

 
 

 PJD_Q09 

PJD_Q08 = ALL PJD_Q09 
What kind of business or service was carried out by your [employer at the place you worked/business]? 
 
<Open text field> 

 
 

 PJD_Q10 

PJD_Q09 = ALL PJD_Q10 
What was the name of your [employer/business]? 
 
Interviewer: Ctrl R may be entered here if necessary 
 
<Open text field> 

 
 
 
 

 PJD_Q11 

SG PJD_Q06 = 2 
PJD_Q10 = ALL 

PJD_Q11 
How many hours did you usually work each week in that [job/business]? 
 
Interviewer: If usually works less than 1 hour, enter 0. 
 
< 0... 99> 

 
 
 
 

 PJD_Q12 

PJD_Q11 = ALL PJD_Q12 
Did you work [for your employer/in your business] for 12 months or more? 
 
1. Yes/More 
5. No/Less 

 
 
 
1.  PJD_Q14 
5.  PJD_Q13 

PJD_Q12 = 5 PJD_Q13 
How many months did you work [for your employer/in your business]? 
 
Interviewer: If worked less than 1 month, enter 1. 

<1..11> 

 
 
 
 

 PJD_Q15 

PJD_Q12 = 1 PJD_Q14 
How many years did you work [for your employer/in your business]? 
 

<1... 70> 

 
 
 

 EDIT  PJD_Q15 
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PJD_Q13 = ALL 
PJD_Q14 = ALL 

PJD_Q15 
What was the main reason you stopped working in your [job/business]? 
 
1. Retrenched/dismissed/no work available 
2. Temporary/seasonal/holiday job 
3. Own business closed down for economic reasons 
4. Own business closed or sold for other than economic reasons 
5. Unsatisfactory work arrangements/wanted to work part-time 
6. To coincide with partner's retirement 
7. Reached retirement age/eligible for superannuation/pension  
8. Own sickness, injury or disability 
9. To have holiday/pursue leisure activities 
10. Returned to studies 
11. To care for children/pregnancy 
12. To care for ill/disabled/elderly person 
13. Spouse transferred 
14. Other 

 
 
 
1.  SG PJD_Q16 
2.  SG PJD_Q16 
3.  EDIT  SG PJD_Q16 
4.  EDIT  SG PJD_Q16 
5.  SG PJD_Q16 
6.  SG PJD_Q16 
7.  SG PJD_Q16 
8.  SG PJD_Q16 
9.  SG PJD_Q16 
10.  SG PJD_Q16 
11.  SG PJD_Q16 
12.  SG PJD_Q16 
13.  SG PJD_Q16 
14.  SG PJD_Q16 

PJD_Q15 = ALL SG PJD_Q16 
1. If PJD_Q11 < 35 
 
2. If LFS status = not in labour force and PJD_Q11 >= 35 and (LFS_Q088A = empty and LFS_Q088B 
= empty and LFS_Q088C = empty and LFS_Q088D = empty and LFS_Q088E = empty and 
LFS_Q088F = empty and LFS_Q088G = empty and LFS_Q088H = empty) or LFS_Q088H = 3 to 6 
 
3. If LFS status = not in labour force and PJD_Q11 >= 35 and (LFS_Q088A = yes or LFS_Q088B = yes 
or LFS_Q088C = yes or LFS_Q088D = yes or LFS_Q088E = yes or LFS_Q088F = yes or LFS_Q088G 
= yes or LFS_Q088H = 1 to 2) and LFS_Q089 = No 
 
4. If LFS status = unemployed and LFS_Q095 <> 1 
 
5. LFS status = unemployed and Age >= 45 and LFS_Q095 = 1 
 
6.LFS status = unemployed and Age >= 18 and <45 and LFS_Q095 = 1 

 
1.  WMH Module 
 
2.  WTW Module 
 
 
 
3.  WCS Module 
 
 
 
4.  FW Module 
 
5.  SUP Module 
 
6.  Next applicable 
module 
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Module 5.3: Want to Work 

Module 5.3.1: Want to Work (WTW) 
From population Question/Field To question 

Age >= 18 and LFS status = 
not in labour force and  
LFS_Q75 = Empty or 8,9,10 
LFS_Q088H = Empty or 
3,4,5,6 

WTW_Q01A 
 
It was reported earlier that you are not currently [looking for work/working]. 
 
Interviewer: If respondent indicates that this is not the case, select option 2. 
 
1. Continue 
2. Next module 

 
 
 
 
 
 
1.  WTW_Q01 
2.  Next applicable 
module 

Age >= 18 and LFS status = 
not in labour force and  
((LFS_Q088A = empty and 
LFS_Q088B = empty and 
LFS_Q088C = empty and 
LFS_Q088D = empty and 
LFS_Q088E = empty and 
LFS_Q088F = empty and 
LFS_Q088G = empty and 
LFS_Q088H = empty) or 
LFS_Q088H = 3 to 6) 

WTW_Q01 
[Even though you are not looking for work/Even though you are not currently working], would you like a 
paid job of any kind at the moment? 
 
1. Yes 
3. Maybe/it depends 
5. No 
6. Don't know 

 
 
 
 
1.  WTW_Q05 
3.  WTW_Q05 
5.  WTW_Q03 
6.  WTW_Q03 



 

12 

WTW_Q01A = 5 or 6 WTW_Q03 
What are all the reasons you do not want to work? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
10. No need/satisfied with current arrangements/retired (for now) 
11. Permanently retired/will not work again 
12. Welfare payments/pension/allowance may be affected 
13. Short-term sickness or injury 
14. Long-term sickness or disability 
15. Studying/returning to studies 
16. Moving house 
17. Taking holidays 
18. Caring for children 
19. Caring for ill/disabled/elderly person 
20. Pregnancy 
21. Home duties 
22. Other 

 
 
 
 
 
10.  SG WTW_Q03A 
11.  SG WTW_Q03A 
12.  SG WTW_Q03A 
13.  SG WTW_Q03A 
14.  SG WTW_Q03A 
15.  SG WTW_Q03A 
16.  SG WTW_Q03A 
17.  SG WTW_Q03A 
18.  SG WTW_Q03A 
19.  SG WTW_Q03A 
20.  SG WTW_Q03A 
21.  SG WTW_Q03A 
22.  SG WTW_Q03A 

WTW_Q03 = ALL SG WTW_Q03A 
1. If only one reason in WTW_Q03 and WTW_Q03 = 18 
 
2. If only one reasons and WTW_Q03 <> 18 
 
3. Otherwise 

 
1.  WTW_Q04A 
 
2.  SG WTW_Q04 
 
3.  WTW_Q04 

SG WTW_Q03A = 1 WTW_Q04 
What is the main reason you do not want to work? 
 
10. No need/satisfied with current arrangements/retired (for now) 
11. Permanently retired/will not work again 
12. Welfare payments/pension/allowance may be affected 
13. Short-term sickness or injury 
14. Long-term sickness or disability 
15. Studying/returning to studies 
16. Moving house 
17. Taking holidays 
18. Caring for children 
19. Caring for ill/disabled/elderly person 
20. Pregnancy 
21. Home duties 
22. Other 

 
 
 
10.  SG WTW_Q04 
11.  SG WTW_Q04 
12.  SG WTW_Q04 
13.  SG WTW_Q04 
14.  SG WTW_Q04 
15.  SG WTW_Q04 
16.  SG WTW_Q04 
17.  SG WTW_Q04 
18.  WTW_Q04A 
19.  SG WTW_Q04 
20.  SG WTW_Q04 
21.  SG WTW_Q04 
22.  SG WTW_Q04 
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SG WTW_Q03A = 1 
WTW_Q04 = 18 
 

WTW_Q04A 
What is the main reason that caring for children stops you from working? 
 
1. Childcare not available/childcare booked out/no childcare in locality 
2. Children too young or too old for childcare 
3. Prefers to look after children 
4. Cost/too expensive 
5. Other childcare reasons 

 
 
 
1.  SG WTW_Q04 
2.  SG WTW_Q04 
3.  SG WTW_Q04 
4.  SG WTW_Q04 
5.  SG WTW_Q04 

SG WTW_Q03A = 2 
WTW_Q04 = ALL 

SG WTW_Q04 
1. If (LFS_Q088A = yes or LFS_Q088B = yes or LFS_Q088C = yes or LFS_Q088D = yes or 
LFS_Q088E = yes or LFSQ088F = yes or LFSQ088G = yes or LFS_Q088H = yes or LFS_Q088 > 0) 
 
2. Age >= 45 and EverWorked = Yes 
 
3. If Age < 45 or Age >= 45 and EverWorked = No 

 
1.  TFW Module 
 
 
2.  SUP Module 
 
3.  Next applicable 
module 

WTW_Q01 = 1 or 3 WTW_Q05 
Approximately how many hours a week would you like to work? 
 
Interviewer: Ctrl K may be entered here if necessary 
<1..98> 
Ctrl K 

 
 
 
 
 
 WTW_Q06 

WTW_Q05 = ALL WTW_Q06 
What type of job would you prefer? Would you prefer a permanent, ongoing job, that is, a job that lasts 
for 12 months or longer, or a short-term, temporary job, that is, a job that lasts for less than 12 months? 
 
1. Permanent job 
2. Short-term job 
3. Either a permanent or short-term job 
4. Don't know 

 
 
 
 
1.  SG WTW_Q06A 
2.  SG WTW_Q06A 
3.  SG WTW_Q06A 
4.  SG WTW_Q06A 

WTW_Q06 = ALL SG WTW_Q06A 
1. LFS_Q19 = 3 (PUW) 
 
2. If WTW_Q06 = 1 or 4 
 
3. If WTW_Q06 = 2 or 3 

 
1.  SG WTW_Q09 
 
2.  WTW_Q07 
 
3.  WTW_Q08 



 

14 

SG WTW_Q06A = 2 WTW_Q07 
If you were offered a short-term, temporary job would you accept it? 
 
1. Yes  
3. Maybe  
5. No  
6. Don't know/haven't thought about it  

 
 
 
1.  WTW_Q08 
3.  WTW_Q08 
5.  WTW_Q08 
6.  WTW_Q08 

SG WTW_Q06A = 3 
WTW_Q07 = ALL 

WTW_Q08 
If you had found a job could you have started work last week?  
 
1. Yes 
5. No 
6. Don't know 

 
 
 
1.  SG WTW_Q09 
5.  SG WTW_Q09 
6.  SG WTW_Q09 

SG WTW_Q06A = 1 
LFS_Q19 = 3 
WTW_Q08 = ALL 

SG WTW_Q09 
1. If WTW_Q08 = 5 or 6 OR LFS_Q19 = 3 
 
2. If (LFS_Q088A = empty and LFS_Q088B = empty and LFS_Q088C = empty and LFS_Q088D = 
empty and LFS_Q088E = empty and LFS_Q088F = empty and LFS_Q088G = empty and LFS_Q088H 
= empty) and WTW_Q08 = 1 
 
3. If LFSQ088H = 3 to 6 and WTW_Q08 = 1 

 
1.  WCS Module 
 
2.  WNL Module 
 
 
 
3.  TFW Module 
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Module 5.3.2: Why Cannot Start Work (WCS) 
From population Question/Field To question 

Age >=18 and LFS status =  
not in labour force and 
 
((LFS_Q088A = yes or 
LFS_Q088B = yes or 
LFS_Q088C = yes or 
LFS_Q088D = yes or 
LFS_Q088E = yes or 
LFS_Q088F = yes or 
LFS_Q088G = yes or 
LFS_Q088H = 1 to 2) and 
LFS_Q089 = No) 
 
or 
 
(LFS_Q088A = empty and  
LFS_Q088B = empty and 
LFS_Q088C empty and 
LFS_Q088D = empty and 
LFS_Q088E = empty and 
LFS_Q088F = empty and 
LFS_Q088G = empty and 
LFS_Q088H = empty) or 
LFS_Q088H = 3 to 6) and 
WTW_Q01= 1,3 and 
WTW_Q08= 5,6) 
 
or 
 
(LFS_Q19 = 6 (permanently 
Unable to work) and  
WTW_Q01 = 1,3)) 

SG WCS_Q01E 
1. If (LFS_Q088A = yes or LFS_Q088B = yes or LFS_Q088C = yes or LFS_Q088D = yes or 
LFS_Q088E = yes or LFS_Q088F = yes or LFS_Q088G = yes or LFS_Q088H = yes or LFS_Q088 > 0) 
or LFS_Q19 = 6 (permanently unable to work) 
 
2. Otherwise 

 
1.  WCS_Q01B 
 
 
 
2.  WCS_Q00 
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SG WCS_Q01E = 1 WCS_Q01B 
It was reported earlier that you [are permanently unable to work/have looked for work in the last 4 
weeks but were not available to start work last week]. 
 
Interviewer: If respondent indicates that this is not the case, select option 2. 
 
1. Continue 
2. Next module 

 
 
 
 
 
 
1.  WCS_Q00 
2.  Next applicable 
module 

SG WCS_Q01E = 2 
WCS_Q01B = 1 

WCS_Q00 
What [are/ were] all the reasons you [are permanently unable to work/could not have started last 
week]? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
1. Short-term sickness or injury 
2. Long-term sickness or disability 
3. Pregnancy 
4. Studying/returning to studies 
5. Moving house 
6. Taking holidays 
7. Home duties  
8. Caring for children  
9. Caring for ill/disabled/elderly person 
10. Other 

 
 
 
 
 
 
1.  SG WCS_Q01 
2.  SG WCS_Q01 
3.  SG WCS_Q01 
4.  SG WCS_Q01 
5.  SG WCS_Q01 
6.  SG WCS_Q01 
7.  SG WCS_Q01 
8.  SG WCS_Q01 
9.  SG WCS_Q01 
10.  SG WCS_Q01 

WCS_Q00 = ALL SG WCS_Q01 
1. If only one reason given in WCS_Q00 (WCS_Q01 imputed) 
 
2. Otherwise 

 
1.  G WCS_Q01A 
 
2.  WCS_Q01 
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SG WCS_Q01 = 2 WCS_Q01 
What [is/was] the main reason you [are permanently unable to work/could not have started last week]? 
 
1. Short-term sickness or injury 
2. Long-term sickness or disability 
3. Pregnancy 
 
4. Studying/returning to studies 
5. Moving house 
6. Taking holidays 
7. Home duties  
8. Caring for children  
9. Caring for ill/disabled/elderly person 
10. Other 

 
 
 
1.  SG WCS_Q01A 
2.  SG WCS_Q01A 
3.  EDIT  SG 
WCS_Q01A 
4.  SG WCS_Q01A 
5.  SG WCS_Q01A 
6.  SG WCS_Q01A 
7.  SG WCS_Q01A 
8.  SG WCS_Q01A 
9.  SG WCS_Q01A 
10.  SG WCS_Q01A 

WCS_Q01 = ALL 
SG WCS_Q01 = 1 

SG WCS_Q01A 
1. If WCS_Q01 = Response and LFS_Q019 = 3 
 
2. If WCS_Q01 = 8 
 
3. Otherwise 

 
1.  SG WCS_Q10 
 
2.  WCS_Q03 
 
3.  WCS_Q04 

SG WCS_Q01A = 2 WCS_Q03 
What was the main reason that caring for children stopped you from working last week? 
 
1. Childcare not available/childcare booked out/no childcare in locality 
2. Children too young or too old for childcare 
3. Prefers to look after children 
4. Cost/too expensive 
5. Other childcare reasons 

 
 
 
1.  WCS_Q04 
2.  WCS_Q04 
3.  WCS_Q04 
4.  WCS_Q04 
5.  WCS_Q04 

SG WCS_01A = 3 
WCS_Q03 = ALL 

WCS_Q04 
How soon could you start work, if work was available? 
 
Interviewer: Enter number of days / weeks / months / years. 
 
If 'never', enter 99. 
Ctrl K may be entered here if necessary. 
 
<0..98> 
Ctrl K or 99 

 
 
 
 
 
1.  WCS_Q05 
 
 
 
2.  SG WCS_Q10 
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WCS_Q04 = <0..98> WCS_Q05 
Interviewer: Please indicate timeframe.  
 
1. Days 
2. Weeks  
3. Months 
4. Years 
5. Other timeframe (Please specify)  

 
 
 
1.  SG WCS_Q10 
2.  SG WCS_Q10 
3.  SG WCS_Q10 
4.  SG WCS_Q10 
5.  WCS_Q06 

WCS_Q05 = 5 WCS_Q06 
 
Interviewer: Enter other timeframe. 
<Open text field> 

 
 
 
 SG WCS_Q10 

SG WCS_Q01A = 1 
WCS_Q04 = Ctrl K or 99 
WCS_Q05  = 1 to 4 
WCS_Q06 = ALL 

SG WCS_Q10 
1.If (LFS_Q088A = empty and LFS_Q088B = empty and LFS_Q088C = empty and LFS_Q088D = 
empty and LFS_Q088E = empty and LFS_Q088F = empty and LFS_Q088G = empty and LFS_Q088H 
= empty) and WCS_Q04/05 <= 1 month 
 
2.If LFS_Q088A = yes or LFS_Q088B = yes or LFS_Q088C = yes or LFS_Q088D = yes or 
LFS_Q088E = yes or LFS_Q088F = yes or LFS_Q088G = yes or LFS_Q088H = yes or LFS_Q088 > 0 
 
3.If (LFS_Q088A = empty and LFS_Q088B = empty and LFS_Q088C = empty and LFS_Q088D = 
empty and LFS_Q088E = empty and LFS_Q088F = empty and LFS_Q088G = empty and LFS_Q088H 
= empty) and WCS_Q04/05 > 1 month and Age >=45 and EverWorked = Yes 
 
4.If LFS_Q088A = empty and LFS_Q088B = empty and LFS_Q088C = empty and LFS_Q088D = 
empty and LFS_Q088E = empty and LFS_Q088F = empty and LFS_Q088G = empty and LFS_Q088H 
= empty) and WCS_Q04/05 > 1 month and ((Age >=18 and <45) or (Age >=45 and Everworked = No)) 

 
1.  WNL Module 
 
 
 
2.  TFW Module 
 
 
3.  SUP Module 
 
 
 
4.  Next applicable 
module 
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Module 5.3.3: Why Not Looking for Work (WNL) 
From population Question/Field To question 

(Age >= 18 and LFS status = 
not in labour force and  
 
(LFS_Q088A = empty and 
LFS_Q088B = empty and 
LFS_Q088C = empty and 
LFS_Q088D = empty and 
LFS_Q088E = empty and 
LFS_Q088F = empty and 
LFS_Q088G = empty and 
LFS_Q088H = empty) and 
WTW_Q01 = 1,3 and 
 
(WTW_Q08 = 1 or 
 
WCS_Q04/05 <= 4 weeks) 
and LFS_Q19 = 3 
(permanently unable to work) 

WNL_Q01 
What are all the reasons you are not looking for work? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
10. Lacks necessary training/qualifications/experience 
11. Considered too old by employers 
12. Difficulties with language or ethnic background 
13. Unable to work because of disability 
14. Believes disability discourages employers 
15. No jobs with suitable conditions/arrangements 
16. Problems with access to transport  
17. Short-term sickness or injury  
18. No jobs or vacancies in locality/line of work/at all 
19. Studying/returning to studies  
20. Moving house  
21. Taking holidays  
22. Caring for children  
23. Caring for ill/disabled/elderly person  
24. Pregnancy 
25. Home duties 
26 No need/satisfied with current arrangements/retired (for now) 
27  Visa requirements 
28. Other 

 
 
 
 
 
10.  SG WNL_Q02 
11.  SG WNL_Q02 
12.  SG WNL_Q02 
13.  SG WNL_Q02 
14.  SG WNL_Q02 
15.  SG WNL_Q02 
16.  SG WNL_Q02 
17.  SG WNL_Q02 
18.  SG WNL_Q02 
19.  SG WNL_Q02 
20.  SG WNL_Q02 
21.  SG WNL_Q02 
22.  SG WNL_Q02 
23.  SG WNL_Q02 
24.  SG WNL_Q02 
25.  SG WNL_Q02 
26.  SG WNL_Q02 
27.  SG WNL_Q02 
28.  SG WNL_Q02 

WNL_Q02 = 28 WNL_Q02 
Please specify 'other' reason for not looking for work: 
<Open text field> 

 
 
 SG WNL_Q02 

WNL_Q01=10 to 27 
WNL_Q02 = ALL 

SG WNL_Q02 
1. If one reason only in WNL_Q01 
 
2. Otherwise 

 
1.  SG WNL_Q03 
 
2.  WNL_Q03 
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SG WNL_Q02 = 2 WNL_Q03 
What is the main reason you are not looking for work? 
 
10. Lacks necessary training/qualifications/experience 
11. Considered too old by employers 
12. Difficulties with language or ethnic background 
13. Unable to work because of disability 
14. Believes disability discourages employers 
15. No jobs with suitable conditions/arrangements 
16. Problems with access to transport  
17. Short-term sickness or injury  
18. No jobs or vacancies in locality/line of work/at all 
19. Studying/returning to studies  
20. Moving house  
21. Taking holidays  
22. Caring for children  
23. Caring for ill/disabled/elderly person  
24. Pregnancy 
25. Home duties 
26.  No need/satisfied with current arrangements/retired (for now) 
27. Visa requirements 
28. Other reason 

 
 
 
10.  SG WNL_Q04 
11.  SG WNL_Q04 
12.  SG WNL_Q04 
13.  SG WNL_Q04 
14.  SG WNL_Q04 
15.  SG WNL_Q04 
16.  SG WNL_Q04 
17.  SG WNL_Q04 
18.  SG WNL_Q04 
19.  SG WNL_Q04 
20.  SG WNL_Q04 
21.  SG WNL_Q04 
22.  SG WNL_Q03 
23.  SG WNL_Q04 
24.  SG WNL_Q04 
25.  SG WNL_Q04 
26.  SG WNL_Q04 
27.  SG WNL_Q04 
28.  SG WNL_Q04 

WNL_Q03 = 22  
SG WNL_Q02 = 1 

SG WNL_Q03 
1. If WNL_Q03 = 22 and WCS_Q03 = Empty 
 
2. IF SG WNL_Q02 = 1 and WNL_Q01 = 22 and WCS_Q03 = Empty 
 
3. Otherwise 

1.  WNL_Q04 
 
2.  WNL_Q04 
 
3.  SG WNL_Q04 

SG WNL_Q03 = 1 or 2 WNL_Q04 
What is the main reason that caring for children stops you from looking for work? 
 
1. Childcare not available/childcare booked out/no childcare in location 
2. Children too young or too old for childcare 
3. Prefers to look after children 
4. Costs/too expensive 
5. Other childcare reason 

 
 
 
1.  SG WNL_Q04 
2.  SG WNL_Q04 
3.  SG WNL_Q04 
4.  SG WNL_Q04 
5.  SG WNL_Q04 

WNL_Q03 = 10 to 21, 23 to 28 
SG WNL_Q03 = 1 
WNL_Q04 = ALL 

SG WNL_Q04 
1. If Age >= 45 and EverWorked = Yes 
 
2. If Age < 45 or Age >= 45 and EverWorked = No 

 
1  SUP Module 
 
2.  INS Module 
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Module 5.3.4: Trouble Finding Work (TFW) 
From population Question/Field To question 

Age >= 18 and 
LFS_Q088A = yes or 
LFS_Q088B = yes or 
LFS_Q088C = yes or 
LFS_Q088D = yes or 
LFS_Q088E = yes or 
LFS_Q088F = yes or 
LFS_Q088G = yes or 
LFS_Q088H = yes or 
LFS_Q088 > 0 and 
LFS_Q095 <> Yes) 

SG TFW_Q01B 
1. If WCS_Q01B = Response 
 
2. Otherwise 

 
1.  TFW_Q01 
 
2.  TFW_Q01A 

SG TFW_Q01B = 2 TFW_Q01A 
It was reported earlier that you have been looking for work [since (date started looking for work)/in the 
last four weeks]. 
 
Interviewer: If respondent indicates that this is not the case, select option 2. 
 
1. Continue 
2.  Next module 

 
 
 
 
 
 
1.  TFW_Q01 
2.  Next applicable 
module 
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SG TFW_Q01B = 1 
TFW_Q01A = 1 

TFW_Q01 
Since you began looking for work, what are all the reasons you have had trouble getting a job? 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
10. Too many applicants for available jobs 
 
11. Lacks necessary training/qualifications/experience 
 
12. Considered too old by employers 
 
13. Difficulties with language or ethnic background 
 
14. Believes disability discourages employers 
 
15. No jobs with suitable conditions/arrangements 
 
16. Problems with access to transport 
 
17. No jobs or vacancies in locality/line of work/at all 
 
18. Visa requirements 
 
19. Other difficulties 
20. No difficulties 

 
 
 
 
10.  EDIT  SG 
TFW_Q02 
11.  EDIT  SG 
TFW_Q02 
12.  EDIT  SG 
TFW_Q02 
13.  EDIT  SG 
TFW_Q02 
14.  EDIT  SG 
TFW_Q02 
15.  EDIT  SG 
TFW_Q02 
16.  EDIT  SG 
TFW_Q02 
17.  EDIT  SG 
TFW_Q02 
18.  EDIT  SG 
TFW_Q02 
19.  EDIT  TFW_Q01C 
20.  SG TFW_Q02 

TFW_Q01 = 19 TFW_Q01C 
Please specify 'other' reason for having trouble getting a job 
<Open text field> 

 SG TFW_Q02 

TFW_Q01 = 10 to 18 and 19 
TFW_Q01C = any 

SG TFW_Q02 
1. If more than one reason given in TFW_Q01 
 
2. Otherwise 

 
1.  TFW_Q02 
 
2.  SG TFW_Q04 
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SG TFW_Q02 = 1 TFW_Q02 
What is the main reason you have had trouble getting a job? 
 
10. Too many applicants for available jobs 
11. Lacks necessary training/qualifications/experience 
12. Considered too old by employers 
13. Difficulties with language or ethnic background 
14. Believes disability discourages employers 
15. No jobs with suitable conditions/arrangements 
16. Problems with access to transport 
17. No jobs or vacancies in locality/line of work/at all 
18. Visa requirements 
19. Other difficulties 

 
 
 
10.  SG TFW_Q04 
11.  SG TFW_Q04 
12.  SG TFW_Q04 
13.  SG TFW_Q04 
14.  SG TFW_Q04 
15.  SG TFW_Q04 
16.  SG TFW_Q04 
17.  SG TFW_Q04 
18.  SG TFW_Q04 
19.  SG TFW_Q04 

SG TFW_Q02 = 2 otherwise 
TFW_Q02 = 1 or 2 

SG TFW_Q04 
1. If Age >= 45 and EverWorked = Yes 
 
2. If Age < 45 or Age >= 45 and EverWorked = No 

 
1.  SUP Module 
 
2.  INS Module 
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Module 5.4:Want More Hours 

Module 5.4.1: Want More Hours (WMH) 
From population Question/Field To question 

Age >=18 and LFS status = 
employed and usual hours 
worked = 0 to 34 and 
LFS_Q070 =1 

WMH_Q02A 
It was reported earlier that you would prefer to work more hours than you usually work. 
 
Interviewer: If respondent indicates that this is not the case, select option 2. 
 
1. Continue 
2.  Next module 

 
 
 
 
 
1.  SG WMH_Q05 
2.  Next applicable 
module 

WMH_Q02A = 1 SG WMH_Q05 
1. LFS_Q72 = 5 and LFS_Q72A = 1 
 
2. Otherwise 

 
1.  WSM Module 
 
2.  WMH_Q06 

SG WMH_Q05 = 4  WMH_Q06 
In the last 4 weeks, have you done anything to obtain more hours of work? 
 
1. Yes 
5. No 

 
 
 
1.  WMH_Q07 
2.  WSM Module 
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WMH_Q06 = 1 WMH_Q07 
Since you began looking for more hours, what are all the reasons you have had trouble obtaining more 
hours? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
10. Too many applicants for available jobs 
 
11. Lacks necessary training/qualifications/experience 
 
12. Considered too old by employers 
 
13. Difficulties with language or ethnic background 
 
14. Believes disability discourages employers 
 
15 No jobs with suitable conditions/arrangements 
 
16. Problems with access to transport 
 
17. No jobs or vacancies in locality/line of work/at all 
 
18 Visa requirements 
 
19. Other difficulties 
 
20. No difficulties 

 
 
 
 
 
 
10.  EDIT  SG 
WMH_Q08 
11.  EDIT  SG 
WMH_Q08 
12.  EDIT  SG 
WMH_Q08 
13.  EDIT  SG 
WMH_Q08 
14.  EDIT  SG 
WMH_Q08 
15.  EDIT  SG 
WMH_Q08 
16.  EDIT  SG 
WMH_Q08 
17.  EDIT  SG 
WMH_Q08 
18.  EDIT  G 
WMH_Q08 
19.  EDIT  SG 
WMH_Q08 
20.  SG WMH_Q08 

WMH_Q07 = ALL SG WMH_Q08 
1. If only one answer given in WMH_Q07 
 
2. Otherwise 

 
1.  WSM Module 
 
2.  WMH_Q09 
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SG WMH_Q08 = 2 WMH_Q09 
What is the main reason you have had trouble obtaining more hours? 
 
10. Too many applicants for available jobs 
11. Lacks necessary training/qualifications/experience 
12. Considered too old by employers 
13. Difficulties with language or ethnic background 
14. Believes disability discourages employers 
15 No jobs with suitable conditions/arrangements 
16. Problems with access to transport 
17. No jobs or vacancies in locality/line of work/at all 
18 Visa requirements 
19. Other difficulties 

 
 
 
10.  SG WMH_Q10  
11.  SG WMH_Q10  
12.  SG WMH_Q10  
13.  SG WMH_Q10  
14.  SG WMH_Q10  
15.  SG WMH_Q10  
16.  SG WMH_Q10  
17.  SG WMH_Q10  
18.  SG WMH_Q10 
19.  SG WMH_Q10  

WMH_Q09 = ALL SG WMH_Q10 
1. If WMH_Q06 = 1 and LFS_Q072 = 5 
 
2. If WMH_Q06 =1 and LFS_Q072 =1 and Age >= 45 
 
3. If WMH_Q06 =1 and LFS_Q072 =1 and Age < 45 

 
1.  WSM Module 
 
2.  SUP Module 
 
3.  Next applicable 
module 
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Module 5.4.2: When Available to Start Working More Hours (WSM) 
From population Question/Field To question 

Age >= 18 and usual hours 
worked =0 to 34 LFS_Q72 = 
(no) 
 

WSM_Q02A 
It was reported earlier that you would prefer to work more hours but were not available to work more 
hours last week. 
 
Interviewer: If respondent indicates that this is not the case, select option 2. 
 
1. Continue 
2.  Next module 

 
 
 
 
 
 
1.  WSM_Q02B 
2.  Next applicable 
module 

WSM_Q02A = 1 WSM_Q02B 
What are all the reasons you could not have worked more hours last week? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
1. Short-term sickness or injury 
2. Long-term sickness or disability 
3. Pregnancy 
4. Studying/returning to studies 
5. Moving house 
6. Taking holidays 
7. Home duties  
8. Caring for children  
9. Caring for ill/disabled/elderly person 
10. Other 

 
 
 
 
 
1.  SG WSM_Q02B 
2.  SG WSM_Q02B 
3.  SG WSM_Q02B 
4.  SG WSM_Q02B 
5.  SG WSM_Q02B 
6.  SG WSM_Q02B 
7.  SG WSM_Q02B 
8.  SG WSM_Q02B 
9.  SG WSM_Q02B 
10.  SG WSM_Q02B 

WSM_Q02B = ALL SG WSM_Q02B 
1. If only one reason given in WSM_Q02B and WSM_Q02B = 8 (WSM_Q03 imputed) 
 
2. If only one reason given in WSM_Q02B and WSM_Q02B <>8 (WSM_Q03 imputed) 
 
3. Otherwise 

 
1.  WSM_Q05 
 
2.  WSM_Q07 
 
3.  WSM_Q03 
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SG WSM_Q02B = 3 WSM_Q03 
What was the main reason you could not have worked more hours last week? 
 
1. Short-term sickness or injury 
2. Long-term sickness or disability 
3. Pregnancy 
4. Studying/returning to studies 
5. Moving house 
6. Taking holidays 
7. Home duties 
8. Caring for children 
9. Caring for ill/disabled/elderly person 
10. Other 

 
 
 
1.  WSM_Q07 
2.  WSM_Q07 
3.  WSM_Q07 
4.  WSM_Q07 
5.  WSM_Q07 
6.  WSM_Q07 
7.  WSM_Q07 
8.  WSM_Q05 
9.  WSM_Q07 
10.  WSM_Q07 

WSM_Q03 = 8 
SG WSM_Q02B = 1  
WSM_Q02B = 8  

WSM_Q05 
What was the main reason that caring for children stopped you from working more hours last week? 
 
1. Childcare not available/childcare booked out/no childcare in locality 
2. Children too young or too old for childcare 
3. Prefers to look after children 
4. Cost/too expensive 
5. Other childcare reasons 

 
 
 
1.  WSM_Q07 
2.  WSM_Q07 
3.  WSM_Q07 
4.  WSM_Q07 
5.  WSM_Q07 

WSM_Q03 = 1-7, 9, 10 
WSM_Q05 = ALL 
SG WSM_02B = 2 

WSM_Q07 
How soon could you start working more hours, if work was available? 
 
Interviewer: Enter number of days / weeks / months / years. 
If 'never', enter 99. 
Ctrl K may be entered here if necessary. 
<0...98> 
Ctrl K or 99 

 
 
 
1.  WSM_Q08 
 
 
 
2.  SG WSM_Q06 

WSM_Q07 = <0...98> WSM_Q08 
Interviewer: Please indicate timeframe 
 
1. Days 
2. Weeks 
3. Months 
4. Years 
5. Other timeframe (Please specify) 

 
 
 
1.  SG WSM_Q06 
2.  SG WSM_Q06 
3.  SG WSM_Q06 
4.  SG WSM_Q06 
5.  WSM_Q09 

WSM_Q08 = 5 WSM_Q09 
Enter other timeframe 
<Open text field> 

 
 
 SG WSM_Q06 
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WSM_Q07 = Ctrl K or 99 
WSM_Q08 = 1 to 4 
WSM_Q09 = ALL 

SG WSM_Q06 
1. If WMH_Q06 = 5 
 
3. If Age >= 45 and WMH_Q06 = 1 
 
4. If Age < 45 and WMH_Q06 = 1 

 
1.  WNM Module 
 
3.  SUP Module 
 
4   INS Module 
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Module 5.4.3: Why Not Wanting/Looking for More Hours (WNM) 
From population Question/Field To question 

Age >= 18 and usual hours 
worked = 0 to 34 and 
((LFS_70 = 5 or 6) or 
(WMH_Q06 = 5)) 

SG WNM_Q01 
1. If WMH_Q06 = 5 
 
2. LFS_Q70= 5 or 6  

 
1.  WNM_Q02 
 
2.  WNM_Q01A 

SG WNM_Q01 = 4 WNM_Q01A 
It was reported earlier that you do not want to work more hours than you usually work at the moment. 
 
Interviewer: If respondent indicates that this is not the case, select option 2. 
 
1. Continue 
2.  Next module 

 
 
 
 
 
1.  WNM_Q05 
2.  Next applicable 
module 

SG WNM_Q01 = 1 WNM_Q02 
What are all the reasons you are not looking to obtain more hours? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
10. Lacks necessary training/qualifications/experience 
11. Considered too old by employers 
12. Difficulties with language or ethnic background 
13. Unable to work because of disability 
14. Believes disability discourages employers 
15. No jobs with suitable conditions/arrangements 
16. Problems with access to transport  
17. Short-term sickness or injury  
18. No jobs or vacancies in locality/line of work/at all 
19. Studying/returning to studies  
20. Moving house  
21. Taking holidays  
22. Caring for children  
23. Caring for ill/disabled/elderly person  
24. Pregnancy 
25. Home duties 
26. No need/satisfied with current arrangements 
27. Visa requirements 
28. Other (Please specify)  

 
 
 
 
 
10.  SG WNM_Q03 
11.  SG WNM_Q03 
12.  SG WNM_Q03 
13.  SG WNM_Q03 
14.  SG WNM_Q03 
15.  SG WNM_Q03 
16.  SG WNM_Q03 
17.  SG WNM_Q03 
18.  SG WNM_Q03 
19.  SG WNM_Q03 
20.  SG WNM_Q03 
21.  SG WNM_Q03 
22.  SG WNM_Q03 
23.  SG WNM_Q03 
24.  SG WNM_Q03 
25.  SG WNM_Q03 
26.  SG WNM_Q03 
27.  SG WNM_Q03 
28.  WNM_Q03 
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WNM_Q02 = 28 Other WNM_Q03 
Please specify 'other' reason for not looking to obtain more hours: 
<Open text field> 

 
 
 SG WNM_Q03 

WNM_Q02 = 10 to 27 
WNM_Q03 = ALL 

SG WNM_Q03 
1. If only one reason given in WNM_Q02 
 
2. Otherwise 

 
1.  SG WNM_Q04A 
 
2.  WNM_Q04 

SG WNM_Q03 = 2 WNM_Q04 
What is the main reason you are not looking to obtain more hours? 
 
10. Lacks necessary training/qualifications/experience 
11. Considered too old by employers 
12. Difficulties with language or ethnic background 
13. Unable to work because of disability 
14. Believes disability discourages employers 
15. No jobs with suitable conditions/arrangements 
16. Problems with access to transport  
17. Short-term sickness or injury  
18. No jobs or vacancies in locality/line of work/at all 
19. Studying/returning to studies  
20. Moving house  
21. Taking holidays  
22. Caring for children 
23. Caring for ill/disabled/elderly person  
24. Pregnancy 
25. Home duties 
26. Visa requirements 
27. [other reason] 

 
 
 
10.  SG WNM_Q06 
11.  SG WNM_Q06 
12.  SG WNM_Q06 
13.  SG WNM_Q06 
14.  SG WNM_Q06 
15.  SG WNM_Q06 
16.  SG WNM_Q06 
17.  SG WNM_Q06 
18.  SG WNM_Q06 
19.  SG WNM_Q06 
20.  SG WNM_Q06 
21.  SG WNM_Q06 
22.  SG WNM_Q04A 
23.  SG WNM_Q06 
24.  SG WNM_Q06 
25.  SG WNM_Q06 
26.  SG WNM_Q06 
27.  SG WNM_Q06 

SG WNM_Q03 = 1 
WNM_Q04 = 22 

SG WNM_Q04A 
1. If SG WNM_Q03 = 1 and WNM_Q02 = 22 and WSM_Q05 = Empty 
 
2. If WNM_Q04 = 22 and WSM_Q05 = Empty 
 
3. Otherwise 

 
1.  WNM_Q07 
 
2.  WNM_Q07 
 
3.  SG WNM_Q06 
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SG WNM_Q01 
WNM_Q01A = 1 

WNM_Q05 
What are all the reasons you do not want to work more hours than you usually work? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
10. No need / satisfied with current arrangements/retired from full-time work (for now) 
11. Permanently retired from full-time work/will not work full-time again  
12. Welfare payments/pension/allowance may be affected 
13. Short-term sickness or injury 
14. Long-term sickness or disability 
15. Studying/returning to studies 
16. Moving house  
17. Taking holidays 
18. Caring for children 
19. Caring for ill/disabled/elderly person 
20. Pregnancy 
21. Home duties 
22. Other 

 
 
 
 
 
10.  SG WNM_Q05A 
11.  SG WNM_Q05A 
12.  SG WNM_Q05A 
13.  SG WNM_Q05A 
14.  SG WNM_Q05A 
15.  SG WNM_Q05A 
16.  SG WNM_Q05A 
17.  SG WNM_Q05A 
18.  SG WNM_Q05A 
19.  SG WNM_Q05A 
20.  SG WNM_Q05A 
21.  SG WNM_Q05A 
22.  SG WNM_Q05A 

WNM_Q05 = ALL SG WNM_Q05A 
1. If only one reason given in WNM_Q05 and WNM_Q05 = 18 
 
2. If only one reason given in WNM_Q05 and WNM_Q05 NE18 
 
3. Otherwise 

 
1.  WNM_Q07 
 
2.  SG WNM_Q06 
 
3.  WNM_Q06 

SG WNM_Q05A = 2 WNM_Q06 
What is the main reason you do not want to work more hours than you usually work? 
 
10. No need/satisfied with current arrangements/retired from full-time work (for now) 
11. Permanently retired from full-time work/will not work full-time again  
12. Welfare payments/pension/allowance may be affected 
13. Short-term sickness or injury 
14. Long-term sickness or disability 
15. Studying/returning to studies 
16. Moving house  
17. Taking holidays 
18. Caring for children 
19. Caring for ill/disabled/elderly person 
20. Pregnancy 
21. Home duties 
22. Other 

 
 
 
10.  SG WNM_Q06 
11.  SG WNM_Q06 
12.  SG WNM_Q06 
13.  SG WNM_Q06 
14.  SG WNM_Q06 
15.  SG WNM_Q06 
16.  SG WNM_Q06 
17.  SG WNM_Q06 
18.  WNM_Q07 
19.  SG WNM_Q06 
20.  SG WNM_Q06 
21.  SG WNM_Q06 
22.  SG WNM_Q06 
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SG WNM_Q04A = 1 or 2 
WNM_Q06 = 18 
SG WNM_Q05A = 1 

WNM_Q07 
What is the main reason that caring for children stops you from [looking/wanting] to obtain more hours? 
 
1. Childcare not available/childcare booked out/no child care in location 
2. Children too young or too old for childcare 
3. Prefers to look after children 
4. Costs/too expensive 
5. Other childcare reason 

 
 
 
1.  SG WNM_Q06 
2.  SG WNM_Q06 
3.  SG WNM_Q06 
4.  SG WNM_Q06 
5.  SG WNM_Q06 

WNM_Q04 = 10 to 21, 23 to 
27 
SG WNM_Q04A = 3 
SG WNM_Q05A = 1 
WNM_Q06 = ALL 
WNM_Q07 = ALL 

SG WNM_Q06 
1. If Age >= 45 
 
2. If Age < 45 

 
1.  SUP Module 
 
2.  INS Module 
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Module 6: Retirement and Retirement Intentions 

Module 6.1: Superannuation (SUP) 
From population Question/Field To question 

Age >= 45 and EverWorked = 
Yes 

SG SUP_Q01 
1. If LFS status = employed or LFS status = unemployed 
 
2. If LFS status = not in labour force and WTW_Q03 = 11  
 
3. Otherwise 

 
1.  SUP_Q04 
 
2.  SUP_Q03A 
 
3.  SUP_Q02 

SG SUP_Q01 = 3 SUP_Q02 
Do you intend to look for, or take up, paid full-time work at any time in the future? 
 
1. Yes/Probably 
5. No 
6. Don't know 

 
 
 
1.  SUP_Q04 
5.  SUP_Q03 
6.  SUP_Q03 

SUP_Q02 = 5 
SUP_Q02 = 6 

SUP_Q03 
Do you intend to look for, or take up, paid part-time work at any time in the future? 
 
1. Yes/Probably 
5. No 
6. Don't know 

 
 
 
1.  SUP_Q04 
5.  SUP_Q03A 
6.  SUP_Q03A 

SG SUP_Q01 = 2 
SUP_Q03 = 5 or 6 

SUP_Q03A 
Have you looked for work since you left your last job? 
 
1. Yes 
5. No 

 
 
 
1.  SUP_Q03B 
5.  SUP_Q04 

SUP_Q03A = 1 SUP_Q03B 
At what age did you stop looking for work? 
 
Interviewer: Enter age. 
Ctrl K may be entered here if necessary. 
<0..99> 

 
 
 
 
 
 EDIT  SUP_Q04 

SG SUP_Q01 = 1 
SUP_Q02 = 1 
SUP_Q03 = 1 
SUP_Q03A = 5 
SUP_Q03B = ALL 

SUP_Q04 
Have you, or your employers on your behalf, ever made contributions to a superannuation scheme? 
 
1. Yes 
5. No 

 
 
 
1.  SUP_Q06 
5.  SG SUP_Q05 
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SUP_Q04 = 5 SG SUP_Q05 
1. If not retired population and not in labour force/unemployed 
 
2. If not retired population and employed 
 
3. If retired population 

 
1.  RTP Module 
 
2.  TTR Module 
 
3.  IRT Module 

SUP_Q06 = 1 Yes SUP_Q06 
Please think about all the superannuation schemes that you or your employers have contributed to. 
Approximately how many years in total have contributions been made? 
<1...99> 

 
 
 
 EDIT  SUP_Q07 

SUP_Q06 = ALL SUP_Q07 
Do you receive regular and continuing payments from any superannuation scheme? 
 
1. Yes 
5. No 
6. Don't know 

 
 
 
1.  LUM Module 
5.  LUM Module 
6.  LUM Module 
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Module 6.2: Use of Lump Sum (LUM) 
From population Question/Field To question 

Age >= 45 and EverWorked = 
Yes and SUP_Q04 = 1 

LUM_Q01 
Have you ever received all or part of your superannuation funds as a lump sum payment? 
 
Interviewer: Ctrl R may be entered here if necessary. 
 
1. Yes 
5. No 
6. Don't know 
Ctrl R 

 
 
 
 
 
 
1.  LUM_Q04 
5.  SG LUM_Q08 
6.  SG LUM_Q08 

LUM_Q01 = 1. Yes LUM_Q04 
In the 12 months immediately after you received your lump sum payment, what were all the things that 
you used the lump sum payment for? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
Ctrl R may be entered here if necessary. 
 
10. Rolled it over/invested it in an approved deposit fund, deferred annuity or other superannuation 
scheme 
11. Purchased an immediate annuity 
12. Invested the money elsewhere/personal savings/bank 
13. Paid off home/paid for home improvements/bought new home 
14. Bought or paid off car/vehicle 
15. Cleared other outstanding debts 
16. Paid for a holiday 
17. Assisted family members 
18. Undecided/Don't know 
19. Other 

 
 
 
 
 
 
 
 
10.  SG LUM_Q04A 
 
11.  SG LUM_Q04A 
12.  SG LUM_Q04A 
13.  SG LUM_Q04A 
14.  SG LUM_Q04A 
15.  SG LUM_Q04A 
16.  SG LUM_Q04A 
17.  SG LUM_Q04A 
18.  SG LUM_Q04A 
19.  SG LUM_Q04A 

LUM_Q04 = ALL SG LUM_Q04A 
1. If only one response in LUM_Q04 
 
2. If more than one response in LUM_Q04 
 
3. Ctrl R used in LUM_Q04 

 
1.  LUM_Q06 
 
2.  LUM_Q05 
 
3.  SG LUM_Q08 
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SG LUM_Q04A = 2 LUM_Q05 
What was the one thing that you used more of your lump sum payment on than anything else? 
 
10. Rolled it over/invested it in an approved deposit fund, deferred annuity or other superannuation 
scheme 
11. Purchased an immediate annuity 
12. Invested the money elsewhere/personal savings/bank 
13. Paid off home/paid for home improvements/bought new home 
14. Bought or paid off car/vehicle 
15. Cleared other outstanding debts 
16. Paid for a holiday 
17. Assisted family members 
18. Undecided/Don't know 
19. Other 

 
 
 
10.  LUM_Q06 
 
11.  LUM_Q06 
12.  LUM_Q06 
13.  LUM_Q06 
14.  LUM_Q06 
15.  LUM_Q06 
16.  LUM_Q06 
17.  LUM_Q06 
18.  LUM_Q06 
19.  LUM_Q06 

SG LUM_Q04A = 1 
LUM_Q05 = ALL 

LUM_Q06 
Did you receive this lump sum payment in the last four years? 
 
1. Yes 
5. No 
6. Don't know 

 
 
 
1.  LUM_Q07 
5.  SG LUM_Q08 
6.  SG LUM_Q08 

LUM_Q06 = 1 LUM_Q07 
How much, including any rollover, was the total amount of that lump sum payment? 
 
Interviewer: If respondent unable to answer, prompt for their best estimate. 
 
Ctrl K or Ctrl R may be entered here if necessary. 
 
<1...99999999> 
Ctrl K or Ctrl R 

 
 
 
 
 
 
 
 
 SG LUM_Q08 

LUM_Q01 = 5 or 6 
SG_LUM_Q04A = 3 
LUM_Q06 = 5 or 6 
LUM_Q07 = ALL 

SG LUM_Q08 
1. If retired population 
 
2. If not retired population and not in labour force/unemployed 
 
3.If not retired population and employed 

 
1.  IRT Module 
 
2.  RTP Module 
 
3.  TTR Module 
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Module 6.3: Retirement Plans (RTP) 
From population Question/Field To question 

Age >= 45 and EverWorked = 
Yes and in not retired 
population and (LFS status = 
not in labour force or 
unemployed) 

RTP_Q03 
At what age do you intend to permanently give up all paid work? 
 
Interviewer: If respondent gives age enter '1'. 
 
1. Age given 
2. Range Given 
3. Don't know age 
4. Don't know whether will retire 
5. Never intends to retire 

 
 
 
 
 
1  RTP_Q04 
2  RTP_Q04A 
3  RTP_Q05 
4  RTP_Q05 
5  IRT Module 

RTP_Q03 = 1 RTP_Q04 
Interviewer: Enter age. 
<1...99> 

 
 
 EDIT  RTP_Q05 

RTP_Q03 = 2 RTP_Q04A  
At about what age do you  intend to permanently give up all paid work 
 
Interviewer: Record range 
Please display only those age ranges that are the same age or older than the respondent. 
 
1. 45 – 49 
2. 50 – 54 
3. 55 – 59 
4. 60 – 64 
5. 65 - 69 
6. 70 - 74 
7. 75  -79 
8. 80 and over 

 
 
 
 
 
 
1.  RTP_Q05 
2.  RTP_Q05 
3.  RTP_Q05 
4.  RTP_Q05 
5.  RTP_Q05 
6.  RTP_Q05 
7.  RTP_Q05 
8.  RTP_Q05 
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RTP_Q03 =3 or 4 
RTP_Q04 = ALL 
RTP_Q04A = all 

RTP_Q05 
What factors will influence your decision about when you intend to permanently give up all paid work?  
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
Financial reasons 
10. Reaching the eligibility age for an age (or service) pension. 
11. Ability to access other government pensions or benefits 
12. Ability to access superannuation funds 
13. Financial security 
14. Spouse/partner's income will enable me to retire 
Job-related reasons 
15. Being retrenched or made redundant 
16. Job too stressful or pressured 
17. Declining interest in work 
Personal reasons: 
18. Retirement of partner 
19. Personal health or physical abilities 
20. Need to care for partner or family 
21. Spend more time with partner/family 
22. Have more personal/leisure time 
24. Other 
25. Don't know 

 
 
 
 
 
 
10.  EDIT  RTP_Q06 
11.  EDIT  RTP_Q06 
12.  EDIT  RTP_Q06 
13.  EDIT  RTP_Q06 
14.  EDIT  RTP_Q06 
 
15.  EDIT  RTP_Q06 
16.  EDIT  RTP_Q06 
17.  EDIT  RTP_Q06 
 
18.  EDIT  RTP_Q06 
19.  EDIT  RTP_Q06 
20.  EDIT  RTP_Q06 
21.  EDIT  RTP_Q06 
22.  EDIT  RTP_Q06 
24.  EDIT  RTP_Q06 
25.  EDIT  RTP_Q06 

RTP_Q05 answered RTP_Q06 
1. If more than one response in RTP_Q05 
2. Otherwise 

 
1.  RTP_Q07 
2.  IRT Module 
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RTP_Q06 = 1 RTP_Q07 
What is the main factor that will influence your decision about when you intend to permanently give up 
all paid  work?   
 
Financial reasons: 
10. Reaching the eligibility age for an age (or service) pension. 
11. Ability to access other government pensions or benefits 
12. Ability to access superannuation funds 
13. Financial security 
14. Spouse/partner's income will enable me to retire 
Job-related reasons: 
15. Being retrenched or made redundant 
16. Job too stressful or pressured 
17. Declining interest in work 
Personal reasons: 
18. Retirement of partner 
19. Personal health or physical abilities 
20. Need to care for partner or family 
21. Spend more time with partner/family 
22. Have more personal/leisure time 
24. Other 
25. Don't know 

 
 
 
 
 
10.  IRT Module 
11.  IRT Module 
12.  IRT Module 
13.  IRT Module 
14.  IRT Module 
 
15.  IRT Module 
16.  IRT Module 
17.  IRT Module 
 
18.  IRT Module 
19.  IRT Module 
20.  IRT Module 
21.  IRT Module 
22.  IRT Module 
24.  IRT Module 
25.  IRT Module 
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Module 6.4: Transition to Retirement (TTR) 
From population Question/Field To question 

Age >= 45 and employed TTR_Q01 
1. If employed full-time (hours usually worked in all jobs > 34) 
2. Otherwise (employed part-time hours usually worked in all jobs  <35) 

 
1.  TTR_Q02 
2.  TTR_Q03 

TTR_Q01 = 1 TTR_Q02 
I would now like to ask you some questions about whether you plan to change your working 
arrangements in the time before retirement.  
 
These questions are being asked of all people aged 45 years and over as people retire at different 
ages and some people change their working arrangements many years before retirement.  
 
Do you intend to look for or take up part-time work when you give up full-time work? 
 
1. Yes 
5. No 
6. Don't know 
7. Never intends to give up full-time work  

 
 
 
 
 
 
 
 
 
1.  TTR_Q03 
5.  TTR_Q08 
6.  TTR_Q08 
7.  END 

TTR_Q01 = 2 
TTR_Q02 = 1 

TTR_Q03 
 
[The next few questions will ask you whether you plan to change your working arrangements in the 
time before retirement.  
 

These questions are being asked of all people aged 45 years and over as people retire at different 
ages and some people change their working arrangements many years before retirement.] 
 
[Your previous responses indicate that you are currently working part-time, that is, less than 35 hours a 
week] 
 
[is this/will this] part-time work [a/be a] transition towards giving up all paid work]?  
 
1. Yes 
5. No 

 
 
 
 
 
 
 
 
 
 
 
 
 
1.  TTR_Q04 
5.  TTR_Q04 

TTR_Q03 = 1, 5 TTR_Q04 
1. If currently working part-time  
2. Otherwise 

 
1.  TTR_Q018 
2.  TTR_Q05 
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TTR_Q04 = 2 TTR_Q05 
Do you intend to remain with your current [business/employer] until you give up all paid work?   
 
1. Yes 
5. No 
6. Don't know 

 
 
 
1.  TTR_Q15 
5.  TTR_Q06 
6.  TTR_Q06 

TTR_Q05 = 5 or 6 TTR_Q06 
Do you intend to change your work in any of the following ways before you give up all paid work 
 
- Running prompt type - 
 
1. Change to a different line of work?   
2. Work on a contract basis? 
3. Work more hours at home? 
4. [Change from working in own business to working for someone else] 
5. [Change from working for someone else to working in your own business] 
6. No other plans 

 
 
 
 
 
1.  EDIT  TTR_Q15 
2.  EDIT  TTR_Q15 
3.  EDIT  TTR_Q15 
4.  EDIT  TTR_Q15 
5.  EDIT  TTR_Q15 
6.  EDIT  TTR_Q15 

TTR_Q02 = 5 or 6 TTR_Q08 
Do you intend to remain with your current [business/employer] until you give up all paid work?   
 
1. Yes  
5. No 
6. Don't know 

 
 
 
1.  TTR_Q09 
5.  TTR_Q10 
6.  TTR_Q09 

TTR_Q08 = 1, 3 TTR_Q09 
Do you intend to change your work in any of the following ways before you give up all work 
 
- Running prompt type - 
 
1. Reduce your duties, or change to a job with less responsibility, or a less demanding job?  
2. Spend more time working from home?  
3. Work on a contract basis?  
4. No further plans 

 
 
 
 
 
1.  EDIT  TTR_Q11 
2.  EDIT  TTR_Q11 
3.  EDIT  TTR_Q11 
4.  EDIT  TTR_Q18 
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TTR_Q08 = 5 TTR_Q10 
Are you planning to change employer in order to do any of the following?   
 
- Running prompt type - 
 
1. Change to a different line of work?  
2. Work in a less demanding job or have less responsibility?  
3. Work more hours from home?  
4. Work on a contract basis?  
5. [Change from working in own business to working for someone else]? 
6. [Change from working for someone else to working in your own business]? 
7. None of the above 

 
 
 
 
 
1.  EDIT  TTR_Q11 
2.  EDIT  TTR_Q11 
3.  EDIT  TTR_Q11 
4.  EDIT  TTR_Q11 
5.  EDIT  TTR_Q11 
6.  EDIT  TTR_Q11 
7.  EDIT  TTR_Q11 

TTR_Q09 = 1, 2, or 3 
TTR_Q10 = ALL 

TTR_Q11 
At what age do you intend to [start implementing transition plans/change your employer]? 
 
1. Age given 
2. Range given 
3. Don't know age 

 
 
 
1.  TTR_Q12 
2.  TTR_Q13 
3.  TTR_Q18 

TTR_Q11 = 1 TTR_Q12 
Interviewer: Record age 
 
Current age..99  EDIT  TTR_Q18 

TTR_Q11 = 2 TTR_Q13 
At about what age do you think you might [change your employer/start implementing transition plans?] 
 
Interviewer: Record range 
 
Please display only those age ranges that are the same age or older than the respondent. 
1. 45 – 49 
2. 50 – 54 
3. 55 – 59 
4. 60 – 64 
5. 65 - 69 
6. 70 – 74 
7. 75 – 79 
8. 80 and over 

 
 
 
 
 
 
1.  TTR_Q18 
2.  TTR_Q18 
3.  TTR_Q18 
4.  TTR_Q18 
5.  TTR_Q18 
6.  TTR_Q18 
7.  TTR_Q18 
8.  TTR_Q18 
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TTR_Q05 = 1 
TTR_Q06 = ANY 

TTR_Q15 
At what age do you intend to start working part-time? 
 
1. Age given  
2. Range given 
3. Don't know age 

 
 
 
1.  TTR_Q16 
2.  TTR_Q17 
3.  TTR_Q18 

TTR_Q15 = 1 TTR_Q16 
Interviewer: Record age 
 
Current age..99 

 
 
 
 EDIT  TTR_Q18 

TTR_Q15 = 2 TTR_Q17 
At about what age do you think you might start working part-time?  
 
Interviewer: Record range 
Please display only those age ranges that are the same age or older than the respondent. 
 
1. 45 – 49 
2. 50 – 54 
3. 55 – 59 
4. 60 – 64 
5. 65 – 69 
6. 70 – 74 
7. 75 – 79 
8. 80 and over 

 
 
 
 
 
 
1.  TTR_Q18 
2.  TTR_Q18 
3.  TTR_Q18 
4.  TTR_Q18 
5.  TTR_Q18 
6.  TTR_Q18 
7.  TTR_Q18 
8.  TTR_Q18 

TTR_Q04 = 1 
TTR_Q09 = 4 
TTR_Q11 = 3 
TTR_Q12 answered 
TTR_Q13 answered 
TTR_Q15 = 3 
TTR_Q16 answered 
TTR_Q17 answered 

TTR_Q18 
I would now like to ask you some questions about any plans you may have to give up all paid work.   

 
 TTR_Q19 
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TTR_Q03 = answered 
TTR_Q18 = answered 

TTR_Q19 
What factors will influence your decision about when you intend to permanently give up all paid work? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
Financial reasons: 
10. Reaching the eligibility age for an age (or service) pension 
11. Ability to access other government pensions or benefits 
12. Ability to access superannuation funds 
13. Financial security 
14. Spouse/partner's income will enable me to retire 
Job-related reasons: 
15. Being retrenched or made redundant 
16. Job too stressful or pressured 
17. Declining interest in work 
Personal reasons: 
18. Retirement of partner 
19. Personal health or physical abilities 
20. Need to care for partner or family 
21. Spend more time with partner/family 
22. Have more personal/leisure time 
23. Never intend to give up paid work 
24. Other 
25. Don't know 

 
 
 
 
 
 
10.  EDIT  TTR_Q20 
11.  EDIT  TTR_Q20 
12.  EDIT  TTR_Q20 
13.  EDIT  TTR_Q20 
14.  EDIT  TTR_Q20 
 
15.  EDIT  TTR_Q20 
16.  EDIT  TTR_Q20 
17.  EDIT  TTR_Q20 
 
18.  EDIT  TTR_Q20 
19.  EDIT  TTR_Q20 
20.  EDIT  TTR_Q20 
21.  EDIT  TTR_Q20 
22.  EDIT  TTR_Q20 
23.  EDIT  IRT Module 
24.  EDIT  TTR_Q20 
25.  EDIT  TTR_Q20 

TTR_Q19 = answered TTR_Q20 
1. If more than one response in TTR_Q19 
2. Otherwise 

 
1.  TTR_Q21 
2.  TTR_Q22 
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TTR_20 = 1 TTR_Q21 
What is the main factor that will influence your decision about when you intend to permanently give up 
all paid work?   
 
Financial reasons: 
10. Reaching the eligibility age for an age (or service) pension. 
11. Ability to access other government pensions or benefits 
12. Ability to access superannuation funds 
13. Financial security 
14. Spouse/partner's income will enable me to retire 
Job-related reasons: 
15. Being retrenched or made redundant 
16. Job too stressful or pressured 
17. Declining interest in work 
Personal reasons: 
18. Retirement of partner 
19. Personal health or physical abilities 
20. Need to care for partner or family 
21. Spend more time with partner/family 
22. Have more personal/leisure time 
23. Never intend to give up paid work 
24. Other 
25. Don't know 

 
 
 
 
 
10.  TTR_Q22 
11.  TTR_Q22 
12.  TTR_Q22 
13.  TTR_Q22 
14.  TTR_Q22 
 
15.  TTR_Q22 
16.  TTR_Q22 
17.  TTR_Q22 
 
18.  TTR_Q22 
19.  TTR_Q22 
20.  TTR_Q22 
21.  TTR_Q22 
22.  TTR_Q22 
23.  TTR_Q22 
24.  TTR_Q22 
25.  TTR_Q22 

TTR_Q03 = answered 
TTR_Q20 = 2 
TTR_Q21 = all 

TTR_Q22 
At what age do you intend to permanently give up all paid work? 
 
1. Age given  
2. Range given  
3. Don't know age 
4. Don't know whether will retire 
5. No intention to give up all work  

 
 
 
1.  EDIT  TTR_Q24 
2.  EDIT  TTR_Q23 
3.  EDIT  IRT Module 
4.  EDIT  IRT Module 
5.  EDIT  IRT Module 
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TTR_Q22 = 2 TTR_Q23 
At about what age do you think you might give up all paid work? 
 
Interviewer: Record range 
Please display only those age ranges that are the same age or older than the respondent. 
 
1. 45 – 49 
2. 50 – 54 
3. 55 – 59 
4. 60 – 64 
5. 65 - 69 
6. 70 - 74 
7. 75  -79 
8. 80 and over 

 
 
 
 
 
 
1.  EDIT  IRT Module 
2.  EDIT  IRT Module 
3.  EDIT  IRT Module 
4.  EDIT  IRT Module 
5.  EDIT  IRT Module 
6.  EDIT  IRT Module 
7.  EDIT  IRT Module 
8.  EDIT  IRT Module 

TTR_Q22 = 1 TTR_Q24 
Interviewer: Record age 
 
Current age.. 99 

 
 
 
 EDIT  IRT Module 
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Module 6.5: Sources of Income at Retirement (IRT) 
From population Question/Field To question 

Age >= 45 and EverWorked = 
Yes 

SG IRT_Q01 
1. If (in not retired population) and (RTP_Q03 = 1-3 or TTR_Q22 = 1-3) 
 
2. If (in not retired population) and (RTP_Q03 = 4,5 or TTR_Q02 = 7 or TTR_Q22 = 4,5 or TTR_Q19 = 
23) 
 
3. If (in retired population) 

 
1.  IRT_Q02 
 
2.  IRT_Q04 
 
 
3.  IRT_Q06 

SG IRT_Q01 = 1 IRT_Q02 
What do you expect all your sources of personal income to be, just after you permanently give up 
work? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
Interviewer: Partners income or living off savings, selling assets should be included in code 8 'no 
personal income'.   
Ctrl R may be entered here if necessary. 
 
1. Government pension or allowance 
 
2. Superannuation or Annuity or private pension 
 
3. Workers' Compensation 
 
4. Profit or loss from rental property 
 
5. Profit or loss from own unincorporated business or share in a partnership 
 
6.  Dividends or interest 
 
7. Other (specify) 
8. No personal income 
 
9. Don't know  

 
 
 
 
 
 
 
 
 
1.  EDIT  SG 
IRT_Q02A 
2.  EDIT  SG 
IRT_Q02A 
3.  EDIT  SG 
IRT_Q02A 
4.  EDIT  SG 
IRT_Q02A 
5.  EDIT  SG 
IRT_Q02A 
6.  EDIT  SG 
IRT_Q02A 
7.  EDIT  IRT_Q02B 
8.  EDIT  SG 
IRT_Q02A 
9.  EDIT  SG 
IRT_Q02A 

IRT_Q02 = 7 IRT_Q02B 
Please specify 'other source' of personal income. 
 
<Open text field> 

 
 
 
 SG IRT_Q02A 
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IRT_Q02 = ALL SG IRT_Q02A 
1. If IRT_Q02 = 9 
 
2. If Ctrl R for IRT_Q02 
 
3. If more than 1 response in IRT_Q02 = 1-7 
 
4. Otherwise  (note: if only 1 response in IRT_Q-2 = 1-7 then impute value in IRT_Q03) 

 
1.  IRT_Q04 
 
2.  IRT_Q04 
 
3.  IRT_Q03 
 
4.  IRTQ03B 

SG IRT_Q02A = 3 IRT_Q03 
What do you expect your main source of personal income to be, just after you permanently give up 
work? 
 
1. Government pension or allowance 
2. Superannuation or Annuity or private pension 
3. Workers' Compensation 
4. Profit or loss from rental property 
5. Profit or loss from own unincorporated business or share in a partnership 
6. Dividends or interest 
7. Other 

 
 
 
 
1.  IRT_Q03B 
2.  IRT_Q03B 
3.  IRT_Q03B 
4.  IRT_Q03B 
5.  IRT_Q03B 
6.  IRT_Q03B 
7.  IRT_Q03B 

SG IRT_Q02A = 4 or IRT_Q03 
= 1-7 

IRT_Q03B 
To [assist in meeting/meet] your living costs just after you permanently give up work, do you expect to 
make use of:  
 
- this is multi response- 

 
1.Your partner's income?  (option only to appear if respondent has a partner) 
2. Savings, or selling assets? (includes downsizing family home) 
3. None of the above/no 

 
 
 
 
 
 
1.  SG IRT_Q03 
2.  SG IRT_Q03 
3.  SG IRT_Q03 

IRT_Q03B = 1-3  SG IRT_Q03 
1. If only one response in IRT_Q02 and IRT_Q02 = 8 and IRT_Q03B = 3 (ie IRT_Q02=8 only) 
2. Otherwise 

 
1.  IRT_Q04 
2.  IRT_Q03C 
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SG IRT_Q03 = 2  IRT_Q03C 
Do you expect the main method of meeting your living costs, just after you permanently give up work to 
be:  
  
- read out till yes response received 
 
1. Personal income from [list sources mentioned in IRT_Q02]?  (if more than one category was 
mentioned insert ' and' between responses) (display only if IRT_Q02=1-7) 
2. Your partner's income? (display if IRT_Q03B=1) 
3. Savings or selling assets? (includes downsizing family home)  (display if IRT_Q03B=2) 
4. None of the above/No  

 
 
 
 
 
 
1.  IRT_Q04 
 
2.  IRT_Q04 
3.  IRT_Q04 
4.  IRT_Q04 

SG IRT_Q01 = 2 
SG IRT_Q02A = 1 or 2 
IRT_Q03C = ALL 

IRT_Q04 
Have you ever previously retired from the workforce with no intention at the time of ever working again? 
 
1. Yes 
5. No 

 
 
 
1.  IRT_Q05 
5.  INS Module 

IRT_Q04 = 1 IRT_Q05 
What reasons did you have for coming out of retirement? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
1. Financial need 
2. Bored/needed something to do 
3. Interesting opportunity came up 
4. Employer/business asked back 
5. Own health improved 
6. No longer needed to care for partner or family member 
7. Death of partner 
8. Separation/divorce from partner 
9. Other 

 
 
 
 
 
1.  SG IRT_Q5 
2.  SG IRT_Q5 
3.  SG IRT_Q5 
4.  SG IRT_Q5 
5.  SG IRT_Q5 
6.  SG IRT_Q5 
7.  SG IRT_Q5 
8.  SG IRT_Q5 
9.  SG IRT_Q5 

IRT_Q05 = 1-9 SG IRT_Q5 
1. If only one response in IRT_Q05 
 
2. Otherwise 

 
1.  INS Module 
 
2.  IRT_Q05M 
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SG IRT_Q5 = 2 IRT_Q05M 
What was your main reason for coming out of retirement? 
 
1. Financial need 
2. Bored/needed something to do 
3. Interesting opportunity came up 
4. Employer/business asked back 
5. Own health improved 
6. No longer needed to care for partner or family member 
7. Death of partner 
8. Separation/divorce from partner 
9. Other 

 
 
 
1.  INS Module 
2.  INS Module 
3.  INS Module 
4.  INS Module 
5.  INS Module 
6.  INS Module 
7.  INS Module 
8.  INS Module 
9.  INS Module 

SG IRT_Q01 = 3 IRT_Q06 
What were all your sources of personal income just after you left or stopped looking for work? 
 
Interviewer: More than one response is allowed. Press space bar between responses. 
 
Interviewer: Partners income or living off savings, selling assets should be included in code 8 'no 
personal income'.   
 
Ctrl R may be entered here if necessary. 
 
1. Government pension or allowance 
2. Superannuation or Annuity or private pension 
3. Workers' Compensation 
4. Profit or loss from rental property 
5. Profit or loss from own unincorporated business or share in a partnership 
6. Dividends or interest 
7. Other (specify) 
8. No personal income 
9. Don't know  

 
 
 
 
 
 
 
 
 
 
1.  EDIT  SG IRT_Q07 
2.  EDIT  SG IRT_Q07 
3.  EDIT  SG IRT_Q07 
4.  EDIT  SG IRT_Q07 
5.  EDIT  SG IRT_Q07 
6.  EDIT  SG IRT_Q07 
7.  EDIT  IRT_Q06B 
8.  EDIT  SG IRT_Q07 
9.  EDIT  SG IRT_Q07 

IRT_Q06 = 7 IRT_Q06B 
Please specify 'other' source' of personal income. 
 
<Open text field> 

 
 
 
 SG IRT_Q07 
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IRT_Q06 = ALL 
IRT_Q06B = answered 

SG IRT_Q07 
1.IRT_Q06 = 9 or IRTQ06 = ctrl R 
 
2. If SUP_Q04 = 5 or IRT_Q06 = 2 
 
3. Otherwise  

 
1.  INS Module 
 
2.  SG_IRT_Q09 
 
3.  IRT_Q08 

SG IRT_Q07 = 3 IRT_Q08 
Was superannuation a source of income just after you left or stopped looking for work? 
 
1. Yes 
5. No 

 
 
 
1.  SG IRT_Q09 
5.  SG IRT_Q09 

SG IRT_Q07 = 2 
IRT_Q08 = ALL 

SG IRT_Q09 
1. If more than one source of income mentioned in:  IRT_Q06=1-7,  IRT_Q08=1 
 
2.Otherwise 

 
1.  IRT_Q10 
 
2.  IRT_Q12 

SG IRT_Q09 = 1 IRT_Q10 
What was your main source of personal income just after you left or stopped looking for work? 
 
1. Government pension or allowance 
2. Superannuation or Annuity or private pension 
3. Workers' Compensation 
4. Profit or loss from rental property 
5. Profit or loss from own unincorporated business or share in a partnership 
6. Dividends or interest 
7. Other 

 
 
 
1.  IRT_Q12 
2.  IRT_Q12 
3.  IRT_Q12 
4.  IRT_Q12 
5.  IRT_Q12 
6.  IRT_Q12 
7. IRT_Q12 

SG IRT_Q09= 2 or IRT_Q10 = 
answered 

IRT_Q12 
To [assist in meeting/meet] your living costs just after you left or stopped looking for work, did you 
make use of:  
 
- this is multi response- 
 
1. Partner's income? 
2. Savings, or selling assets? (includes downsizing family home) 
3. None of the above/no 

 
 
 
 
 
 
1.  SG IRT_Q12A 
2.  SG IRT_Q12A 
3.  SG IRT_Q12A 

IRT_Q12 = 1-3 SG IRT_Q12A 
1. If only one response in IRT_Q06 and IRT_Q06 = 8 and  IRT_Q12 = 3  
 
2. Otherwise 

 
1.  INS Module 
 
2.  IRT_Q13 
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IRT_Q12 answered IRT_Q13 
 Was the main method of meeting your living costs just after you left or stopped looking for work: 
  
- read out till yes response received 
 
1. Personal income from [list sources mentioned in IRT_Q06][or superannuation or blank]}? (if more 
than one category was mentioned insert 'and' between responses) (display only if IRT_Q06 = 1-7) 
2. Partner's income? (display if IRT_Q012 = 1) 
3. Savings or selling assets? (includes downsizing family home)  (display if IRT_Q012 = 2) 
4. None of the above/No  

 
 
 
 
 
1.  INS Module 
 
2.  INS Module 
3.  INS Module 
4.  INS Module 
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Module 6.6: Incentives (INS) 
From population Question/Field To question 

Everyone in Barriers 
population aged <= 75, 
excluding persons unable to 
work and persons who are 
permanently retired 
 

INS_PREAMBLE 
Thinking about your own circumstances, I would like to know whether each of these things is very 
important, somewhat important or not important at all to you, when you think about [returning to 
work/working more hours/commencing work].  

 
 
 
 INS_Q01 

INS_PREAMBLE INS_Q01 
How important is being able to work a set number of hours on set days.  Is this very important, 
somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable 

 
 
 
 
1.  INS_Q02 
2.  INS_Q02 
3.  INS_Q02 
4.  INS_Q02 

INS_Q01 INS_Q02 
How important is being able to vary start and finish times.  Is this very important, somewhat important 
or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable 

 
 
 
 
1.  INS_Q03A 
2.  INS_Q03A 
3.  INS_Q03A 
4.  INS_Q03A 

INS_Q02 INS_Q03A 
How important is being able to work part-time hours.  Is this very important, somewhat important or not 
important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable 

 
 
 
 
1.  INS_Q03B 
2.  INS_Q03B 
3.  INS_Q03B 
4.  INS_Q03B 
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INS_Q03A  INS_Q03B 
How important is being able to work school hours?  Is this very important, somewhat important or not 
important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable 

 
 
 
 
1.  INS_Q03C 
2.  INS_Q03C 
3.  INS_Q03C 
4.  INS_Q03C 

INS_Q03B = ALL SG INS_18 
 
1. Uslhrs Wkd <= 35 
 
2. Otherwise 

 
 
1.  INS_Q03C 
 
2.  INS_Q04 

SG INS_18 = 1 INS_Q3C 
Is being able to work more hours [in your own business/with the same employer] very important, 
somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable 

 
 
 
 
1.  INS_Q04 
2.  INS_Q04 
3.  INS_Q04 
4.  INS_Q04 

SG INS_18 = 2 
INS_Q03C = ALL 

INS_Q04 
How important is being able to do some or all of your work from home? (Is this very important, 
somewhat important or not important at all to you?) 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q06 
2.  INS_Q06 
3.  INS_Q06 
4.  INS_Q06 

INS_Q06 = ALL INS_Q06 
How important is being able to maintain most of any government benefits or allowances you currently 
receive?  Is this very important, somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q06A 
2.  INS_Q06A 
3.  INS_Q06A 
4.  INS_Q06A 
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INS_Q06 = ALL INS_Q06A 
How important is being able to make extra contributions to superannuation?  Is this very important, 
somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q06B 
2.  INS_Q06B 
3.  INS_Q06B 
4.  INS_Q06B 

INS_Q06A = ALL INS_Q06B 
How important is getting help with job search activities?  Is this very important, somewhat important or 
not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q06C 
2.  INS_Q06C 
3.  INS_Q06C 
4.  INS_Q06C 

INS_Q06B = ALL INS_Q06C 
How important is getting a job that matches your skills and experience?  Is this very important, 
somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q06D 
2.  INS_Q06D 
3.  INS_Q06D 
4.  INS_Q06D 

INS_Q06C = ALL INS_Q06D 
How important is getting support for training or study to improve your skills.  For example, getting leave 
or financial support?  Is this very important, somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q06E 
2.  INS_Q06E 
3.  INS_Q06E 
4. INS_Q06E 

INS_Q06D = ALL INS_Q06E 
How important is having access to a mentor or someone to support you in the work place?  Is this very 
important, somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  SG INS_11 
2.  SG INS_11 
3.  SG INS_11 
4.  SG INS_11 
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INS_Q06E = ALL SG INS_11 
1. If has a child under 13 years on household form (use same sequencing as SG UAC_Q01A) - identify 
age of child of MPS HF (parent and guardian) 
 
2. If UAC_Q01B = Yes and 
(WTW_Q03 = 18 or 
WNL_Q01 = 22 or 
WSM_Q02B = 8 or 
WNM_Q02 = 22 or 
WNM_Q05 = 18 or 
WCS_Q000 = 8) ie child care given as a reason for not wanting/looking or available to work 
 
3. Otherwise 

 
1.  INS_12 
 
 
2.  INS_12 
 
 
 
 
 
 
 
3.  SG INS_15 

SG INS_11 = 1 or 2 INS_Q12 
How important is having access to child care for your (your child(ren)/the child(ren) you care for.  Is this 
very important, somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q13 
2.  INS_Q13 
3.  INS_Q13 
4.  INS_Q13 

INS_Q12 INS_Q13 
How important is financial assistance with child care costs. Is this very important, somewhat important 
or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q15 
2.  INS_Q15 
3.  INS_Q15 
4.  INS_Q15 

SG INS_011 =3  or 
INS_Q13 = All 

SG INS_15 
 
1. IF UAC_Q01C = 1 or UAC_Q01D = 1 or 
WTW_Q03 = 19 or WNL_Q01 = 23 or 
WSM_Q02B = 9 or 
WNM_Q02 = 23 or 
WNM_Q05 = 19 
 
2. Otherwise 

 
 
1.  INS_Q16 
 
 
 
 
 
2.  INS_Q17A 
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SG INS_15 INS_Q16 
Thinking about the person you provide care for, is access to [aged care/residential care/residential or 
aged care] facilities very important, somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q17 
2.  INS_Q17 
3.  INS_Q17 
4.  INS_Q17 

INS_Q16 INS_Q17 
Thinking about the person you provide care for, is access to in-home respite care or a Community 
support worker very important, somewhat important or not important at all to you?   
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q17A 
2.  INS_Q17A 
3.  INS_Q17A 
4.  INS_Q17A 

INS_Q17 INS_Q17A 
How important is having access and facilities in your workplace for any medical conditions or 
disabilities you may have?  Is this very important, somewhat important or not important at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q17B 
2.  INS_Q17B 
3.  INS_Q17B 
4.  INS_Q17B 

INS_Q17A INS_Q17B 
How important is having access to public transport?  Is this very important, important or not important 
at all to you? 
 
1. Very important 
2. Somewhat important 
3. Not important at all 
4. Not applicable  

 
 
 
 
1.  INS_Q20 
2.  INS_Q20 
3.  INS_Q20 
4.  INS_Q20 

SG_ INS_18 = 2 
INS_Q19 = All 
 

INS_Q20 
Is there anything else that would encourage or help you to [return to work/work more hours/commence 
work]?  
 
1. Yes  (please specify) 
5. No  

 
 
 
 
1.  INS_Q20A 
5.  INS_Q21 
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INS_Q20 = 1 INS_Q20A 
Interviewer : Enter other things that would encourage respondent 
 
< Open text field - 100 characters> 

 
 
 
 INS_Q21 

INS_Q20 = All INS_Q21 
Assuming work was available, what would be the lowest wage per hour, before any tax is taken out, 
that you would [accept/accept to work more hours]?  
 
Enter amount 
 
Range 1...500 
 
Interviewer: CTRL K if don't know.  
Interviewer : If more than $500, enter 500. 

 
 
 
 
 
 
 
 
 
 SG INS_22A 

INS_Q21 = All SG INS_22A 
 
1. INS_Q01, INS_Q02, INS_Q03A, INS_Q03B, INS_Q03C, INS_Q04, INS_Q06, INS_Q06A, 
INS_Q06B, INS_Q06C, INS_Q06D, INS_Q06E, INS_Q12, INS_Q13, INS_Q16, INS_Q17, INS_Q17A, 
INS_Q17B 
If INS_Q01 = 1 or 2; or 
If INS_Q02 = 1 or 2; or 
If  INS_Q03A = 1 or 2; or 
If INS_Q03B = 1 or 2; or 
If INS_Q03C = 1 or 2; or 
If INS_Q04 = 1 or 2; or 
If INS_Q06 = 1 or 2; or 
If INS_Q06A = 1 or 2; or 
If INS_Q06B = 1 or 2; or 
If INS_Q06C = 1 or 2; or 
If INS_Q06D = 1 or 2; or 
If INS_Q06E = 1 or 2; or 
If INS_Q12 = 1 or 2; or 
If INS_Q13 = 1 or 2; or 
If INS_Q16 = 1 or 2; or 
If INS_Q17 = 1 or 2; or 
If INS_Q017A = 1 or 2; or 
If INS_Q017B = 1 or 2; or 
 
2. Otherwise 

 
 
1.  INS_Q22 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2.  INS_Q23 
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SG INS_22A = 1 INS_Q22 
If you were offered a job with [the condition/all of the conditions] you have told me [is/are] important to 
you, would you definitely [return to work/work more hours/commence work], probably [return to 
work/work more hours/commence work], be unlikely to [return to work/work more hours/commence 
work], or not [return to work/work more hours/commence work]? 
 
1. definitely return 
2. possibly return 
3. unlikely 
4. won’t return 
5. Don't know 

 
 
 
 
 
 
1.  INS_Q23 
2.  INS_Q23 
3.  INS_Q23 
4.  INS_Q23 
5.  INS_Q23 

INS_Q22  INS_Q23 
If you were offered a suitable job, would you be prepared to move, for example to another state or 
another part of this state?  
 
1. Yes 
3. Maybe/It depends 
5. No 
6. Don’t know 

 
 
 
 
1.  SG INS_Q24 
3.  SG INS_Q24 
5.  SG INS_Q24 
6.  SG INS_Q24 

INS_Q23  SG INS_24 
1. If employed 
 
2. Otherwise 

 
1.  Next applicable 
module 
2.  INS_Q25 

SG INS_Q24 = 2 INS_Q25 
Apart from earning money, what is the main reason you would return to work? 
 
1. Financial reasons only - extra money, just money 
 
2. Meet people/social interaction 
 
3. Bored/need something to do 
 
4. Own health improved 
 
5. Change in family situation eg No longer needed to care for partner or family member, death of 
partner, separation/divorce 
 
6. Interesting opportunity 
 
7. Other (specify) 

 
 
 
1.  Next applicable 
module 
2.  Next applicable 
module 
3.  Next applicable 
module 
4.  Next applicable 
module 
5.  Next applicable 
module 
 
6.  Next applicable 
module 
7.  INS_Q26 
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INS_Q25 = 7 INS_Q26 
Interviewer : Enter other reason wants to return to work    
 
< Open text field - 100 characters> 

 
 
 
 Next applicable module 
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Module 13: Main Living Costs (MLC) 
From population Question/Field To question 

If age > 44 and (in retired 
population) 

MLC_Q1 
MLC_Q01  
 
To [assist in meeting/meet] your living costs, do you make use of  
 
Interviewer : More than one response is allowed. Press space bar between responses. 
 
1. Your partner's income? (if respondent has a partner). 
2. Savings, or selling assets?  
 
1. Partner's income 
2. Savings, or selling assets 
3. None of the above/No 

 
 
 
 
 
 
 
 
 
 
1.  MLC_Q1A 
2.  MLC_Q1A 
3.  MLC_Q1A 

MLC_Q1 = ALL MLC_01A 
1. If no income source reported in INC_Q01 = 7 and MLC_Q01 = 3 
2. If no income source reported INC_Q01 = 7 and MLC_Q01 NE 3 
3. Otherwise  

 
1.  END 
2.  MLC_Q03 
3.  MLC_Q02 

MLC_Q1A = 3 MLC_Q02 
Is the main method of meeting your living costs 
 
Interviewer : Read out each category till yes response received 

 
1. Personal income from [list sources of personal income reported]?  
2. Partner's income?  
3. Savings or selling assets? 
4. None of the above/No 

 
 
 
 
 
1.  END 
2.  END 
3.  END 
4.  END 

MLC_Q1A = 2 MLC_Q03 
Is the main method of meeting your living costs 
 
Interviewer : Read out each category till yes response received 
 
2. Partner's income?  
3. Savings or selling assets?  

 
 
 
 
 
2.  END 
3.  END 

 


